9.5 The Product and Quotient Rules

Sunday, May 22, 2022 723 AM

Op h(x) ore CJ Fﬁd&"} \ﬂ . Then fﬁ

. )
ek Aswe o oY
i~
o = (j(x)\n(»c) Phen e produc! e
Z g L
X
f(x\— 30 W (x) + %J;“)é( )
Jj" ’-Vw\ - ‘))7\ a";./‘
5-»;,; vl (,u

\ / M
@ 10 y,jfil theon  FO0 = B )1
o W (%) K\\u‘

g
“The qurML QU‘ o

e 4 O\ 01\9 R

& FmJ [ f foos (3%-»‘11(;@)(6 ")

O i u@‘”

5 Y
£ X &+ M _éx-"’(

f (0=

fro = G
_ e A — T X 1e B "L\"
STUDENTS-HUB.com

Uploaded By: Jibreel Bornat



& i -
-t =%

-

v16 g

(x) = \+2,>< I
[’(P r"‘A 5”?” p 3“ \ %e.,,]L Lwc_

at 7"\ 04«

Kxo-\)

g .
4 = 9% =3O —(\+2DB) (V- B +(;Q
2 (e g L)
= B
m:S\OP(:é(%o) :2/(\3 -5
é(f = \+zxg) |~><+>L<1)

Hieofom ot

2(*>—(|+2x)(o 1) % (= ><+x)(°*6")

Q\—\'\"’D) (\ ~«6\(€D2)

(0= \*1D>
mj -L\A—l)(‘*"f) + LV(E)
- (v r €
- 9 +¢

~(6

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



STUDENTS-HUB.com Uploaded By: Jibreel Bornat



2/_\ _zx1m+?o
35 1,
(- 49)

\!

i

— X —2X 470

(X -19)
T . ol
EAp -mcp the ins*'%lmeovb (aJ-L of C}ﬂw“!\
- P_ax'xl 4 x=- :

WORERTR: - 3% = - o
{{"‘9 )(1/\1

Sé(x\ - ((;?-“)(3*1—6%x 3) = (¥-3% +7) (2x-0)
(-9
%( ) (_,____}__f—D )| zD.n)( o)

(T5-)
\\"4) k’Z‘T 6) - -,-3&&2)
(1-9)

—

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



o =1
B 9
~3)

STUDENTS-HUB.com Uploaded By: Jibreel Bornat



